0Z26-126-026 auoydajal  64G0-0L6HG UISUODSIA ‘0BT NP puod 616 X08 Od  OT1 “Auedwog sying |0g

‘A9 NMVYEd

NY1d 31IS

snajonp ‘saippng s ‘Ansusyu ‘soiseqg :S3143S

0/8¢-NINN

0.48Z-NINN

oNnJang

6102 ‘€0 ANt

82

40'-11"

Y

) o
I |: 11
\J L) N
—\
|
ADA ACCESSIBILITY GUIDELINE (ADAAG CONFORMANCE) —
NUMEER OF PLAY EVENTS: 22 |
NUMBER OF ELEVATED PLAY EVENTS: 10
NUMBER OF ELEVATED PLAY EVENTS ACCESSIBLE BY RAMP. PROVIDED: O REC: O
NUMBER OF ELEVATED PLAY EVENTS ACCESSIBLE BY TRANSFER SYSTEM PROVIDED: 3
NUMBER OF ELEVATED PLAY EVENTS ACCESSIELE BY RAMP OR TRANSFER SYSTEM: RECQT: 5
NUMBER OF GROUND LEVEL PLAY EVENTS: PROVIDED: 12 RECI: 3
MNUMBER OF TYPES OF GROUND LEVEL PLAY EVENTS: PROVIDED: 7 REOQT: 3

SCALE IN FEET

- WARNING!

e INFORMATION "\

{

MINIMUM FALL ZONE
SURFACED WITH
RESILIENT MATERIAL
AREA

1430 SQFT.
PERIMETER
247 FT.

_STRUCTURE SIZE
40'11"x 82' 0"
STRUCTURE IS DESIGNED
FOR CHILDREN AGES:

X 6-23 MONTH OLDS

X 2-5YEAROLDS

X 5-12 YEAR OLDS
13+ YEAR OLDS

Registered |
to IS0 9001 |

Registered
to 150 4001

To vari rtitication,
oy et ot

The play components identified
in this plan are IPEMA
certified. The use and layout of
these components conform to the
requirements of ASTM F 1487,
To verify product certification,
visit www ipema.org

The space requirements shown
here are to ASTM standards.
Requirements for other standards
may be different.

The use and layout of play
components identified in this plan
conform to the CPSC guidelines.

U.S. CPSC recommaends the
separation of age groups in
playground layouts.

ACCESSIBLE SAFETY SURFACING MATERIAL IS REQUIRED BENEATH

AND AROUND THIS EQUIPMENT.

FOR SLIDE FALL ZONE SURFACING AREA SEE CPSC's Handbook for

Public Playground Safety.

PLATFORM HEIGHTS ARE IN INCHES ABOVE RESILIENT MATERIAL.




j)

/I ercussion

()Iay

Outdoor Musical
nstruments

Ground Fixed

Congas
Page 10of 3

L

Installation Instructions

/

\ /1. Attach the steel leg to each\
of the congas with the
M10x50 security screws,
square washers and PU
mounts. (1.1) (See Assembly

\\Guide) /

/2.Attach Ground Fixings to )
legs(1.2) (See Ground Fix Post

Installation Sheet)

- /

3.Excavatel hole for the

Instrument
Components:

F

M10x50 Security Screw

@xél

M10x50x3 Square washer
X2
PU 200 Mount
X2

PU 250 Mount

Metric
Conversion:
250mm/ 10"
400mm/ 16"
850mm/ 33"
1.5m/59"

L‘

MADE IN
BRITAIN
BSEN 1176

Steel leg 250mmdiameter by

300mmdeep, in desired
location upon decision from
customer.

- /

/4. Locate (lower) legs into
hole making sure they are
vertical and level prior to
concreting in place.

/

/5. Once happy with Iocatioh

J of the Instrument, fill hole

Weight of heaviest part 3.8kg (Large drum Small Congas)
Weight of heaviest part 4.5kg (Large drum Medium Congas)
Weight of heaviest part 5.2kg (Large drum Large Congas)

using rapid hardening
concrete. Be sure to compact
concrete around legs and
leave to dry according to
manufactures guidelines.

. /

_————

V' Install Instrument

| 15m 1.5m | with 1.5m free space
1 1 (from widest point)
f I' around it.

—_——_-

Small - 850mm
Medium - 850mm
Large-850mm

SM,L

T
Ll

Ground Surface

|

k Ground Fix

Components:
Played with hands

/xZ @

M10x200 Bolt M10 Nut

Spares available from
percussionplay.com or from your
local distributor




”i) Assembly Guide PPCONG

/ ercussion Tools:

Dlay i€z} <.
Outdoor Musical TX45 Driver Bit
Instruments

PPCONG PLAN

Ground Fixed

Congas
Page 2 of 3

Thread Lock Solution
Required (Not Supplied)

COMPONENTS LIST:

Instrument M10x50 Pin torx X4

Components:

L)
, x4 I|[->=6 9= 17—) go
M10x50 Security Screw / T M10x200 Threaded Bar X2
@ x4

M10x50x3 square washer X4

M10 Nut X4

PU MOUNT 250 X2

M10x50x3 Square washer | // PU MOUNT 200 X2
X X2

Thread Lock Solution
PU 200 Mount Required (Not Supplied)

¢} T [ o
X2
8

PU 250 Mount

Thread Lock Solution
Required (Not Supplied)

‘ PPCONG FRONT PPCONG SIDE
. Spares available form
MADE IN k Ground Fix / x2 @ x4 percussionplay.com or from your
BRITAIN blayed with nan® Components: M10x200Bol  M10Nut local distributor

BSEN 1176




j)

/I ercussion

ADJEY

Outdoor Musical
1struments

Ground Fixed

Congas
Page 30f 3

Components:

S

M10x200 Bolt

e .

Metric Conversion:
50mm/ 2"
250mm/ 10"
350mm/ 14"
400mm/ 16"
450mm/ 18"

k‘

MADE IN
BRITAIN
BSEN 1176

Ground Fix Post Installation

_/\f_ _ /\/__

N
/v ®

®
Insert M10x 200 Threaded Fix M10x 200 Threaded
bar into pre drilled holes bar in place using M10
in Ground Fixing Post Nuts

>,

Excavate a hole with a
250mm diameter tapering
down to 350mm diameter

and 350mm depth

Foundations should not present a hazard. These foundations
are recommended as a guide, for more information on

foundation details for various surface see Part 7 of BSEN 1176. N

Compact base of hole with Fill hole with fast drying
50mm of aggregate. concrete to manufacturers
Lower ground Fix post specifications.
attached of instrument

into hole (check

instrument straight and

level before filling with

concrete)

300mm min depth

Concrete

Aggregate




j)

ercussion

|
()Iay

Outdoor Musical
nstruments

Ground Fixed

Babel Drum
Page 10of 3
S

.

Instrument
Components:

’.

M8x25mm Pin Torx

Metric Conversion:
200mm/ 8"
400mm/ 16"
530mm/ 20 55/64”
680mm/ 26 49/64”
700mm/ 27 9/16"
850mm/ 33 15/32”
980mm/ 38 37/64"
1.5m/ 59"

L‘

MADE IN
BRITAIN
BSEN 1176

Installation Instructions

1. Unpack ground fixing legs
3no.

8. Align holes in side of babel
drum with bolts on legs. )

2.Lay packaging out on floor
or assemble on non-abrasive
surface to prevent marking of
polished stainless steel.

3. Align holes on legs
(opposite end to polished
domes) and secure in place
using 3no. M10 x 200mm
threaded bar and 6no. M10
nuts provided

Tools required 2no. 17mm
metric spanner/wrench (/4
inch or alternatively using
adjustable wrench)

4. Invert assembled frame so
domed ends face upwards.

5. Place 8mm Hex Key
supplied into hole in leg and
lock into internal bolt.

Weight of heaviest part 17.5kg (Large Babel Drum)
Weight of heaviest part 13.4kg (Small Babel Drum)

6. Remove Black caps
opposite side of leg and
keeping Hex Key in place,
slide black polyurethane

/9. Using 8mm Hex Key screw
bolts into drum to secure in
place.

Use thread locking solution
All hole locations are laser cut
for accuracy to ensure holes
indrum align perfectly with

\_legs. J
N

10. Using TX4O driver
provided secure M8 x 25mm
security bolts into external
holes in legs 3no. Use thread
lock solution

Heights:

KS1 - (L)700-(S)705mm
KS2 - (L)850-(S)855mm
Adult- (L)980-(S)985mm|

Ground Surface

damper over bolt until flush

with end of bolt. Repeat for Adult 400mm - | =
other 2 legs KS2 530mm o pn
7.Unpack babel drum leaving ‘ KS1 680mm alm

black film in place to protect.

La rge787note

Install
S Instrument
A with 1.5m free
\  space (from
\  widest point)
\ .
\ around it.

1.5m

S_———-

CAUTION: Drum
surface can get hot
indirect sunlight, if
possible install in
shaded areas.

A
= - Adult 400mm
oo KS2 530mm
= ™ KS1680mm
Small 6 note

| 2

Played with hands

Ground Fix
Components:

J

M10x200 Threaded bar

@xé

M10BZP Nut

Spares available from
percussionplay.com or from your
local distributor




,) Assembly Guide PPBDL-S

/ ercussion Tools:
|ay \> U <_/ Axl & «1
Qutdoor Musical Thread Lock Soluti Hex T Key TX 40 Driver Bit
qst'\,\/rhcm; B :) C read Lock Solution

Required

Ground Fixed

Babel Drum
Page 2 of 3

.

Instrument
Components:

V o 1 : ’
x3

M8x25mm Pin Torx

24

T
24
T

s €
Thread Lock Solution @
Required Ny

=

Z)
G dFi 3 Spares available from 22 Kg
MADE IN round rix X @ x6 percussionplay.com or from your n
BRITAIN Components: 134 Kg
BSEN 1176 Played with hands M10x200 Threaded bar

local distributor
M10BZP Nut



j)

/I ercussion

ADJEY

Outdoor Musical
1struments

Ground Fixed

Babel Drum
Page 30f 3

SR
e X

Components:

e

M10x200 Threaded Bar

@ .

M10BZP Nut

Metric Conversion:
50mm/ 2"
250mm/ 10"
350mm/ 14"
400mm/ 16"
450mm/ 18"

L‘

MADE IN
BRITAIN
BSEN 1176

Ground Fix Installation

1 Insert M10x 200 Threaded
bar into pre drilled holes
in Frame of Babel Drum
using M10 BZP Nuts

If Drum needs to
be positioned
lower a deeper
hole can be
excavated.

o
n
<

2

Excavate a holes with a
250mm diameter tapering
down to 350mm diameter
and 450mm depth

L 350 X

Compact base of hole with
50mm of aggregate.
Lower ground Fix post
attached to instrument
into hole (check
instrument straight and

level before filling with 4 Fill hole with fast drying

concrete) concrete to manufacturers
specifications.
- [ [ [

EmE—

o
n

Foundations should not present a hazard. These foundations are recommended as a guide, for
more information on foundation details for various surface see Part 7 of BSEN 1176.







	ADA call out

